
For information contact:  DACO Corp. at 800-345-3226

                                              PRODUCT DATA SINGLE SPEED UNITS
                                                   

Model BCT
1-36

BCT
1-42

BCT
1-48

BCT
1-60

BCT
2-60

BCT
2-72

BCT
2-84

BCT
2-96

BCT
3-108

BCT
3-120

BCT
3-132

BCT
4-144

 
Nozzle
width
inches

36 42 48 60 60 72 84 96 108 118 133 145

Max.
FPM at
Nozzle

 3516 3516 3516 3516 3516 3516 3516 3516 3516 3516 3516 3516

Max.
CFM at
Nozzle

 2418 2820 3223 3552 4250 4838 5640 6445 7254 8059 9088 9676

Avg. 
FPM at
Nozzle

3416 2697 2359 2125 2822 3147 2697 2360 3139 2684 2343 3147

CFM at
Nozzle 2170 2163 2155 2167 3245 4326 4314 4334 6489 6472 6475 8652

Outlet
Velocity

Uniformity
95% 93% 92% 91% 95% 95% 93% 92% 95% 94% 95% 95%

Number
of

 Motors
1 1 1 1 2 2 2 2 3 3 3 4

Horse
Power per 

motor
1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2

Weight
(Lbs) 85 92 99 113 142 164 184 198 241 269 279 328

*Trained and experienced mechanic / electrician required
Visible or Concealed Damage:
Claims should be made immediately to the transportation company.  Do not delay filing a claim.  Powered Aire will not be liable
for damage claims submitted late.
Unpacking:
Carefully remove enough of crate to expose inlet screws.  Remove Phillips head screws holding intake screen in place.  Remove
screen and filters (if provided), save screws.  Use 3/8" socket and extension to remove four lag bolts.  Unit is now ready for
removal.  Unit can be lifted by blower housing inlets.  (Caution - Be careful not to grasp by blower wheels.  They will bend and
throw wheels out of balance, affecting safety and performance of air curtain.)
Electrical Installation:
Units must be field wired in accordance with all local and national electric codes, including wire size and materials.
Mounting Note:
For every one inch the bottom of the aire curtain is mounted above the door header, the back side of aire curtain should be moved
away from the wall 1/2 inch.
Mounting Option 1:
Top Mount - Unit has four 3/8-16 threaded inserts for installing one end of threaded rods.  The other ends of the threaded rods
can be attached to the ceiling.  Threaded rod should not extend more than 3/4 inch into aire curtain.

POWERED AIRE
POWERED AIRE INC.

TM

INC.
www.poweredaire.com

INSTALLATION INSTRUCTIONS
(Models CED, BCE, BCT, ETD & LIM)

Note: All hardware and brackets must be of sufficient strength to safely support aire curtain.

Threaded rods, angle brackets, and struts provided by others.

Mounting Option 2:
Wall Mount - Back side of aire curtain has 4 mounting holes capable of accepting four 3/8 mounting bolts or lags, with washers
(use these holes only for mounting).  Mark and pre-drill mounting surface accurately.  A long extension and rachet will negate the
need to remove the motor/blower plate when installing.  Mounting bolts or lags of sufficient size and strength should be installed
and tightened through the four 7/8 inch holes in motor/blower plate.  If motor/blower plate has to be removed, the junction box
inside the unit must be removed along with any electrical switches that may be in the way.  The electrical switches have a lever
that slides in one direction to release the switch contacts from the switch body.  All wires will then stay intact for easy installation
when replacing blower plate.  Remove 7/16 whizlock nuts holding plate in place, and slide plate out, rotating top portion of plate
so it comes out first.  Remember when installing plate to put bottom of plate in first and rotate top in last.

Mounting Option 3:
Wall mount, extension brackets - Extension brackets bolt on to the back of the unit, utilizing the 4 original mounting holes, and
allowing for external mounting of unit to wall.  Brackets have elongated mounting slots that extend the mounting width by 2 1/2
to 3 1/2 inches.

109 Mortensen Rd.  Greenville, PA  16125            Phone:  888-321-AIRE  or  724-588-3305              Fax:  724-588-3371
June, 2009

*Trained and experienced mechanic / electrician required
Visible or Concealed Damage:
Claims should be made immediately to the transportation company.  Do not delay filing a claim.  Powered Aire will not be liable
for damage claims submitted late.
Unpacking:
Carefully remove enough of crate to expose inlet screws.  Remove Phillips head screws holding intake screen in place.  Remove
screen and filters (if provided), save screws.  Use 3/8" socket and extension to remove four lag bolts.  Unit is now ready for
removal.  Unit can be lifted by blower housing inlets.  (Caution - Be careful not to grasp by blower wheels.  They will bend and
throw wheels out of balance, affecting safety and performance of air curtain.)
Electrical Installation:
Units must be field wired in accordance with all local and national electric codes, including wire size and materials.
Mounting Note:
For every one inch the bottom of the aire curtain is mounted above the door header, the back side of aire curtain should be moved
away from the wall 1/2 inch.
Mounting Option 1:
Top Mount - Unit has four 3/8-16 threaded inserts for installing one end of threaded rods.  The other ends of the threaded rods
can be attached to the ceiling.  Threaded rod should not extend more than 3/4 inch into aire curtain.

POWERED AIRE
POWERED AIRE INC.

TM

INC.
www.poweredaire.com

INSTALLATION INSTRUCTIONS
(Models CED, BCE, BCT, ETD & LIM)

Note: All hardware and brackets must be of sufficient strength to safely support aire curtain.

Threaded rods, angle brackets, and struts provided by others.

Mounting Option 2:
Wall Mount - Back side of aire curtain has 4 mounting holes capable of accepting four 3/8 mounting bolts or lags, with washers
(use these holes only for mounting).  Mark and pre-drill mounting surface accurately.  A long extension and rachet will negate the
need to remove the motor/blower plate when installing.  Mounting bolts or lags of sufficient size and strength should be installed
and tightened through the four 7/8 inch holes in motor/blower plate.  If motor/blower plate has to be removed, the junction box
inside the unit must be removed along with any electrical switches that may be in the way.  The electrical switches have a lever
that slides in one direction to release the switch contacts from the switch body.  All wires will then stay intact for easy installation
when replacing blower plate.  Remove 7/16 whizlock nuts holding plate in place, and slide plate out, rotating top portion of plate
so it comes out first.  Remember when installing plate to put bottom of plate in first and rotate top in last.

Mounting Option 3:
Wall mount, extension brackets - Extension brackets bolt on to the back of the unit, utilizing the 4 original mounting holes, and
allowing for external mounting of unit to wall.  Brackets have elongated mounting slots that extend the mounting width by 2 1/2
to 3 1/2 inches.

109 Mortensen Rd.  Greenville, PA  16125            Phone:  888-321-AIRE  or  724-588-3305              Fax:  724-588-3371
June, 2009

*Trained and experienced mechanic / electrician required
Visible or Concealed Damage:
Claims should be made immediately to the transportation company.  Do not delay filing a claim.  Powered Aire will not be liable
for damage claims submitted late.
Unpacking:
Carefully remove enough of crate to expose inlet screws.  Remove Phillips head screws holding intake screen in place.  Remove
screen and filters (if provided), save screws.  Use 3/8" socket and extension to remove four lag bolts.  Unit is now ready for
removal.  Unit can be lifted by blower housing inlets.  (Caution - Be careful not to grasp by blower wheels.  They will bend and
throw wheels out of balance, affecting safety and performance of air curtain.)
Electrical Installation:
Units must be field wired in accordance with all local and national electric codes, including wire size and materials.
Mounting Note:
For every one inch the bottom of the aire curtain is mounted above the door header, the back side of aire curtain should be moved
away from the wall 1/2 inch.
Mounting Option 1:
Top Mount - Unit has four 3/8-16 threaded inserts for installing one end of threaded rods.  The other ends of the threaded rods
can be attached to the ceiling.  Threaded rod should not extend more than 3/4 inch into aire curtain.

POWERED AIRE
POWERED AIRE INC.

TM

INC.
www.poweredaire.com

INSTALLATION INSTRUCTIONS
(Models CED, BCE, BCT, ETD & LIM)

Note: All hardware and brackets must be of sufficient strength to safely support aire curtain.

Threaded rods, angle brackets, and struts provided by others.

Mounting Option 2:
Wall Mount - Back side of aire curtain has 4 mounting holes capable of accepting four 3/8 mounting bolts or lags, with washers
(use these holes only for mounting).  Mark and pre-drill mounting surface accurately.  A long extension and rachet will negate the
need to remove the motor/blower plate when installing.  Mounting bolts or lags of sufficient size and strength should be installed
and tightened through the four 7/8 inch holes in motor/blower plate.  If motor/blower plate has to be removed, the junction box
inside the unit must be removed along with any electrical switches that may be in the way.  The electrical switches have a lever
that slides in one direction to release the switch contacts from the switch body.  All wires will then stay intact for easy installation
when replacing blower plate.  Remove 7/16 whizlock nuts holding plate in place, and slide plate out, rotating top portion of plate
so it comes out first.  Remember when installing plate to put bottom of plate in first and rotate top in last.

Mounting Option 3:
Wall mount, extension brackets - Extension brackets bolt on to the back of the unit, utilizing the 4 original mounting holes, and
allowing for external mounting of unit to wall.  Brackets have elongated mounting slots that extend the mounting width by 2 1/2
to 3 1/2 inches.

109 Mortensen Rd.  Greenville, PA  16125            Phone:  888-321-AIRE  or  724-588-3305              Fax:  724-588-3371
June, 2009

*Trained and experienced mechanic / electrician required
Visible or Concealed Damage:
Claims should be made immediately to the transportation company.  Do not delay filing a claim.  Powered Aire will not be liable
for damage claims submitted late.
Unpacking:
Carefully remove enough of crate to expose inlet screws.  Remove Phillips head screws holding intake screen in place.  Remove
screen and filters (if provided), save screws.  Use 3/8" socket and extension to remove four lag bolts.  Unit is now ready for
removal.  Unit can be lifted by blower housing inlets.  (Caution - Be careful not to grasp by blower wheels.  They will bend and
throw wheels out of balance, affecting safety and performance of air curtain.)
Electrical Installation:
Units must be field wired in accordance with all local and national electric codes, including wire size and materials.
Mounting Note:
For every one inch the bottom of the aire curtain is mounted above the door header, the back side of aire curtain should be moved
away from the wall 1/2 inch.
Mounting Option 1:
Top Mount - Unit has four 3/8-16 threaded inserts for installing one end of threaded rods.  The other ends of the threaded rods
can be attached to the ceiling.  Threaded rod should not extend more than 3/4 inch into aire curtain.

POWERED AIRE
POWERED AIRE INC.

TM

INC.
www.poweredaire.com

INSTALLATION INSTRUCTIONS
(Models CED, BCE, BCT, ETD & LIM)

Note: All hardware and brackets must be of sufficient strength to safely support aire curtain.

Threaded rods, angle brackets, and struts provided by others.

Mounting Option 2:
Wall Mount - Back side of aire curtain has 4 mounting holes capable of accepting four 3/8 mounting bolts or lags, with washers
(use these holes only for mounting).  Mark and pre-drill mounting surface accurately.  A long extension and rachet will negate the
need to remove the motor/blower plate when installing.  Mounting bolts or lags of sufficient size and strength should be installed
and tightened through the four 7/8 inch holes in motor/blower plate.  If motor/blower plate has to be removed, the junction box
inside the unit must be removed along with any electrical switches that may be in the way.  The electrical switches have a lever
that slides in one direction to release the switch contacts from the switch body.  All wires will then stay intact for easy installation
when replacing blower plate.  Remove 7/16 whizlock nuts holding plate in place, and slide plate out, rotating top portion of plate
so it comes out first.  Remember when installing plate to put bottom of plate in first and rotate top in last.

Mounting Option 3:
Wall mount, extension brackets - Extension brackets bolt on to the back of the unit, utilizing the 4 original mounting holes, and
allowing for external mounting of unit to wall.  Brackets have elongated mounting slots that extend the mounting width by 2 1/2
to 3 1/2 inches.

109 Mortensen Rd.  Greenville, PA  16125            Phone:  888-321-AIRE  or  724-588-3305              Fax:  724-588-3371
June, 2009

*Trained and experienced mechanic / electrician required
Visible or Concealed Damage:
Claims should be made immediately to the transportation company.  Do not delay filing a claim.  Powered Aire will not be liable
for damage claims submitted late.
Unpacking:
Carefully remove enough of crate to expose inlet screws.  Remove Phillips head screws holding intake screen in place.  Remove
screen and filters (if provided), save screws.  Use 3/8" socket and extension to remove four lag bolts.  Unit is now ready for
removal.  Unit can be lifted by blower housing inlets.  (Caution - Be careful not to grasp by blower wheels.  They will bend and
throw wheels out of balance, affecting safety and performance of air curtain.)
Electrical Installation:
Units must be field wired in accordance with all local and national electric codes, including wire size and materials.
Mounting Note:
For every one inch the bottom of the aire curtain is mounted above the door header, the back side of aire curtain should be moved
away from the wall 1/2 inch.
Mounting Option 1:
Top Mount - Unit has four 3/8-16 threaded inserts for installing one end of threaded rods.  The other ends of the threaded rods
can be attached to the ceiling.  Threaded rod should not extend more than 3/4 inch into aire curtain.

POWERED AIRE
POWERED AIRE INC.

TM

INC.
www.poweredaire.com

INSTALLATION INSTRUCTIONS
(Models CED, BCE, BCT, ETD & LIM)

Note: All hardware and brackets must be of sufficient strength to safely support aire curtain.

Threaded rods, angle brackets, and struts provided by others.

Mounting Option 2:
Wall Mount - Back side of aire curtain has 4 mounting holes capable of accepting four 3/8 mounting bolts or lags, with washers
(use these holes only for mounting).  Mark and pre-drill mounting surface accurately.  A long extension and rachet will negate the
need to remove the motor/blower plate when installing.  Mounting bolts or lags of sufficient size and strength should be installed
and tightened through the four 7/8 inch holes in motor/blower plate.  If motor/blower plate has to be removed, the junction box
inside the unit must be removed along with any electrical switches that may be in the way.  The electrical switches have a lever
that slides in one direction to release the switch contacts from the switch body.  All wires will then stay intact for easy installation
when replacing blower plate.  Remove 7/16 whizlock nuts holding plate in place, and slide plate out, rotating top portion of plate
so it comes out first.  Remember when installing plate to put bottom of plate in first and rotate top in last.

Mounting Option 3:
Wall mount, extension brackets - Extension brackets bolt on to the back of the unit, utilizing the 4 original mounting holes, and
allowing for external mounting of unit to wall.  Brackets have elongated mounting slots that extend the mounting width by 2 1/2
to 3 1/2 inches.

109 Mortensen Rd.  Greenville, PA  16125            Phone:  888-321-AIRE  or  724-588-3305              Fax:  724-588-3371
June, 2009

  Mounting 
Options

Single Phase Motor Voltage Available:   120     208/230    480    575		
Amp Draw Per Motor:                             7.3          3.0        1.7     1.3

Sound Level: 60 dba / Sound level measured 10 ft.from the unit in a free field based on a one-motor unit.

BCE
Powered Aire Model 

  1/2 HP direct drive motors 

  Stainless Steel Construction !

  Mount on interior for Insect 
and Climate Control

  Mount on exterior for 
Insect Control

 Up to 8 ft. 
mounting 

height

USDA
COMPLIANCE

FDA
COMPLIANCE

AIB
COMPLIANCE



B
C

E
M

O
U

N
TIN

G
 W

ID
TH

O
V

ER
A

LL W
ID

TH

N
O

ZZLE W
ID

TH

108 1/16
M

O
U

N
T

IN
G

W
ID

T
H

C
O

N
T

R
A

C
T

O
R

 :

        L
O

C
A

T
IO

N
 :

JO
B

 N
A

M
E

 :

M
O

D
E

L
N

U
M

B
E

R
O

V
E

R
A

L
L

W
ID

T
H

N
O

Z
Z

L
E

W
ID

T
H

60 1/16
42 1/16

36  1/16
48 1/16

E
N

G
IN

E
E

R
 :

M
O

D
E

L
 # :

T
A

G
(S) :

84 1/16
72 1/16

96 1/16

6160

B
C

E
1-60

B
C

E
1-42

B
C

E
1-36

3736

4342

B
C

E
1-48

4948

B
C

E
2-84

B
C

E
2-72

7372

B
C

E
2-96

8584

9796

B
O

T
T

O
M

FR
O

N
T

Ø
1.125" H

O
LE TO

A
C

C
EPT 1/2"

ELEC
TR

IC
A

L C
O

N
D

U
IT

11.85"
T

O
P

EX
C

LU
SIV

E
PO

SITIV
E SEA

L
N

O
ZZLE D

ESIG
N

PA
R

T D
ESC

R
IPTIO

N
:

        PO
W

ER
ED

 A
IR

E SY
STEM

S
   M

O
D

EL B
C

E B
U

G
 C

O
N

TR
O

L U
P

            TO
 EIG

H
T FEET H

IG
H

PO
W

ER
ED

 A
IR

E
109 M

ortensen R
d.   G

reenville, P
A  16125

145 1/16
118 1/16

133 1/16

PA
R

T/FILE#    B
C

E

D
A

TE: 03/01/11
D

R
A

W
N

 B
Y

: B
.K

.J.

B
C

E
4-144

2.75" N
O

ZZLE
O

PEN
IN

G

B
C

E
3-108

B
C

E
3-120

109

108

119

118

B
C

E
3-132

134

133

146

145

IN
C

.
TM

R
EA

R
M

O
U

N
TIN

G
H

O
LES

9.50"

15.00"

(4) Ø
0.38" M

O
U

N
TIN

G
H

O
LES TY

PIC
A

L TO
P

A
N

D
 R

EA
R

8.50"

17.50"
3.25"

4.00"

B
C

E
2-60

60 1/16

60 61


